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Find the volume of cylinders
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Find the volume of cylinders
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Find the volume of cones
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Find the surface area of cones
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Find the probability of a simple event and its complement
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Find and compare experimental and theoretical probabilities

%:/‘], h ‘_]LQJJ-YI ..‘u_'-a-gi .n;\b.a Ei_*uj 5 ’.Lr._g (30 0 1 ’_Lc a9 '_939 o 44 20 ;.]u—i L.-1<A d> >3 ogh n
.‘2 oad Jlas ¥y o) Jlas¥l o acid) axg asg) o o]
" - - -

5 e nBydl LA

1 Gle bl pue .b



lagiss & \aally &) ci¥laa=Yls daw il Y il slony]

(1-3)

747

Find and compare experimental and theoretical probabilities
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Find and compare experimental and theoretical probabilities
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Use multiplication to count the number of outcomes and find probabilities
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Use multiplication to count the number of outcomes and find probabilities
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Find the number of permutations of a set of objects and find probabilities
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Predict actions of a larger group by using a sample
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Predict actions of a larger group by using a sample
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Identify misleading graphs and statistics
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Identify misleading graphs and statistics
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Compare two data sets using line plots or box plots
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Compare two data sets using line plots or box plots
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Find the volume of spheres
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sPerform probability simulations to model real-world situations involving uncertainty
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sPerform probability simulations to model real-world situations involving uncertainty
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Find the surface area of cones
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Solve problems involving similar solids
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Solve problems involving similar solids
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Solve problems involving similar solids
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Find the probability of a simple event and its complement
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Find the probability of a simple event and its complement
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Find the number of permutations of a set of objects and find probabilities
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Find the number of permutations of a set of objects and find probabilities
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Find the number of permutations of a set of objects and find probabilities
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Find the number of permutations of a set of objects and find probabilities
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Find the number of permutations of a set of objects and find probabilities
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Find the number of permutations of a set of objects and find probabilities
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Find the probability of dependent and independent events
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Find the probability of dependent and independent events
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Find the probability of dependent and independent events
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Find the probability of dependent and independent events
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Predict actions of a larger group by using a sample

818

Ziged! Jlona

= e
17
14
11

dt yot (P b)) s ¢ 3Ualul FOLG Jgdond! pgddu
DY B sl ¥ Jguod! pusiiu! . dawgied) Lals|

]

-

iola)) deasd) Jlows 2 digo las) Jleas) .1

oabasl) Jlons 3 g sLis) Jlais) .2

anl)) o b dage Jlas) Jlas) .3

oedat)) Jlowe galsawi s 400 Lol cro cdadl sue oS Las .4

i dlst) (Jlss gradsiaumee I 50O Ll pare M 20 25155 B




s pluseiwl Bl ds gasre Jladl aBgs
19 a3 el e Bl 85 (1-6) 818

Predict actions of a larger group by using a sample
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Determine whether sampling methods are valid
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Determine whether sampling methods are valid
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Determine whether sampling methods are valid
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Find the surface area of cylinders

(1-4)

693

(1 ) e (0 635 Bl ) daniid] 38 . i gdas] JSI 2SI plaa) dorLuse dvg

4.

5.6 mm

4 cm




22

dogyeall g Sl

Find the volume of cylinder

(5-8)

671

8 ) 33 Sdag madl g Lo - salodl Mains dviad) L 0 gl fie dag,se D
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Find the volume of cylinder
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Find the volume of cylinder

(5-8)

671

Gpdie (0 ey QA () O g S > d g

8.

:r 10 cm
/
}J_Z

3.5cm

6 cm




- S yall GlatU VL= Slow]

(1-6) 759
Find probabilities of compound events

et sLAD) syl o Lo Dl JSI
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Find probabilities of compound events

e oSk 3,> ,Lasly SPACE auls oo > ,Las) .4 ad o) 39l gl juas) gl L-_,;,’ﬁ_‘,,,_-.,.‘,'l el ax1)s Las ﬁ
MATH a5 24 41 21 5018 41 10 als wle o Ly




23

S yall GlatU VL= Slow]

Find probabilities of compound events

(1-6)

759

) Ll Jlei 1 ao gl o . pead] sladd) dov gl (dead JSI
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Find probabilities of compound events

(1-6)

759
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